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— ~ (20%) Please solve the following ordinary differential equation (ODE):

Y'(x)=3y(x), with y(0) = 3.

= ~ (20%) Please solve the following ordinary differential equation (ODE):

537 =332 + 63y = 0, with (1) = 2,

— N

(20%) Please use Laplace transform to solve the following ordinary differential equation
(ODE):
Y +5Y' (1) +6y(t)=u(t—2), with y(0) = Oand y'(0)=0.

M ~ (20%) Please find the inverse Fourier transform of the followin time domain signals:
g g

3jo+24
('jm)2+5jm+4 ’

(—) (10%) X(Jo)=

LL-10<w<10

0, otherwise -

(=) (10%) ~X(jo) :{

&~ (20%) Please prove the following relations:
I

(—) (10%) Flx(0)*g}= ¥ (jo) G(jo) |

where F {} is the Fourier transform operator, * is the continuous-time convolution

operator, and X(jo) and G(jo) are the Fourier transforms of x() and g(),
respectively.

(=) (10%) L{fc)* g(e)}=Lige)* f(1)},

where L{-} is the Laplace transform operator, * is the continuous-time convolution

operator, and f{7) and g(f) are two continuous-time signals.







